

A Generalized (G'/G) -Expansion Method for the Nonlinear Schrödinger Equation with Variable Coefficients

Sheng Zhang, Jin-Mei Ba, Ying-Na Sun, and Ling Dong

Department of Mathematics, Bohai University, Jinzhou 121000, P. R. China

Reprint requests to Dr. S. Z.; E-mail: dr.szhang@yahoo.com.cn

Z. Naturforsch. **64a**, 691 – 696 (2009); received November 10, 2008 / revised February 16, 2009

In this paper, a generalized (G'/G) -expansion method, combined with suitable transformations, is used to construct exact solutions of the nonlinear Schrödinger equation with variable coefficients. As a result, hyperbolic function solutions, trigonometric function solutions, and rational solutions with parameters are obtained. When the parameters are taken as special values, some solutions including the known kink-type solitary wave solution and the singular travelling wave solution are derived from these obtained solutions. It is shown that the generalized (G'/G) -expansion method is direct, effective, and can be used for many other nonlinear evolution equations with variable coefficients in mathematical physics.

Key words: Nonlinear Evolution Equations; Generalized (G'/G) -Expansion Method; Hyperbolic Function Solutions; Trigonometric Function Solutions; Rational Solutions.

1. Introduction

Seeking exact solutions of nonlinear evolution equations (NLEEs) is of important significance in mathematical physics and becomes one of the most exciting and extremely active areas of research investigation. In the past several decades, many effective methods for obtaining exact solutions of NLEEs have been presented, such as the inverse scattering method [1], Hirota's bilinear method [2], Bäcklund transformation [3], Painlevé expansion [4], sine-cosine method [5], homogeneous balance method [6], homotopy perturbation method [7], variational method [8], asymptotic methods [9], Adomian decomposition method [10], mapping approach [11], tanh-function method [12 – 15], algebraic method [16, 17], Jacobi elliptic function expansion method [18, 19], F -expansion method [20 – 22], auxiliary equation method [23 – 25], and Exp-function method [26 – 28].

However, to our knowledge, most of aforementioned methods are related to the constant-coefficient models. Recently, the study of variable-coefficient NLEEs has attracted much attention [8, 28 – 32] because most of real nonlinear physical equations possess variable coefficients. Wang et al. [33] proposed a new method called the $(\frac{G'}{G})$ -expansion method to look for travelling wave solutions of NLEEs. The $(\frac{G'}{G})$ -expansion method is based on the assumptions that the

travelling wave solutions can be expressed by a polynomial in $(\frac{G'}{G})$, and that $G = G(\xi)$ satisfies a second order linear ordinary differential equation (LODE):

$$G'' + \lambda G' + \mu G = 0, \quad (1)$$

where $G' = dG(\xi)/d\xi$, $G'' = d^2G(\xi)/d\xi^2$, $\xi = x - Vt$, and V is a constant. The degree of the polynomial can be determined by considering the homogeneous balance between the highest order derivative and nonlinear terms appearing in the given NLEE. The coefficients of the polynomial can be obtained by solving a set of algebraic equations resulted from the process of using the method. By using the $(\frac{G'}{G})$ -expansion method, Wang et al. [33, 34] and Bekir [35] have successfully obtained more travelling wave solutions of some important NLEEs. More recently, Zhang et al. [36, 37] proposed a generalized $(\frac{G'}{G})$ -expansion method to improve and extend Wang et al.'s work [33] for solving variable-coefficient equations and high-dimensional equations.

The present paper is motivated by the desire to further extend the generalized $(\frac{G'}{G})$ -expansion method [36] to other types of NLEEs. With this purpose, we will consider the nonlinear Schrödinger equation with variable coefficients:

$$iu_z + \frac{1}{2}\beta(z)u_{tt} + \alpha(z)|u|^2u = i\gamma(z)u, \quad (2)$$

where $u = u(z, t)$ is a real or complex valued function of z and t , $\alpha(z)$, $\beta(z)$, and $\gamma(z)$ are all arbitrary functions of the indicated variable.

The rest of this paper is organized as follows: In Section 2, we briefly describe the generalized $(\frac{G'}{G})$ -expansion method. In Section 3, we use the generalized $(\frac{G'}{G})$ -expansion method and several suitable transformations to solve equation (2). In Section 4, some conclusions are given.

2. Description of the Generalized $(\frac{G'}{G})$ -Expansion Method

For a given NLEE with independent variables $X = (x, y, z, \dots, t)$ and dependent variable u :

$$F(u, u_t, u_x, u_y, u_z, \dots, u_{xt}, u_{yt}, u_{zt}, \dots, u_{tt}, u_{xx}, u_{yy}, u_{zz}, \dots) = 0, \quad (3)$$

we suppose its solution can be expressed by a polynomial in $(\frac{G'}{G})$ as follows:

$$u = \sum_{i=1}^m \alpha_i(X) \left(\frac{G'}{G} \right)^i + \alpha_0(X), \quad \alpha_m(X) \neq 0, \quad (4)$$

where $\alpha_0(X)$, $\alpha_i(X)$ ($i = 1, 2, \dots, m$), and $\xi = \xi(X)$ are all functions of X to be determined later, $G = G(\xi)$ satisfies equation (1). To determine u explicitly, we take the following four steps:

Step 1. Determine the integer m by balancing the highest order nonlinear term(s) and the highest order partial derivative of u in (3).

Step 2. Substitute (4) along with (1) into (3) and collect all terms with the same order of $(\frac{G'}{G})$ together, the left-hand side of (3) is converted into a polynomial in $(\frac{G'}{G})$. Then set each coefficient of this polynomial to zero to derive a set of over-determined partial differential equations for $\alpha_0(X)$, $\alpha_i(X)$, and ξ .

Step 3. Solve the system of over-determined partial differential equations obtained in Step 2 for $\alpha_0(X)$, $\alpha_i(X)$, and ξ by use of *Mathematica*.

Step 4. Use the results obtained in the above steps to derive a series of fundamental solutions of (3) depending on $(\frac{G'}{G})$, since the solutions of equation (1) have been well known for us, then we can obtain exact solutions of (3).

3. Exact Solutions of Equation (2)

In order to obtain the exact solution of equation (2), firstly we make the transformation

$$u(z, t) = V(z, t) \exp(i\theta(z, t)), \quad (5)$$

where $V(z, t)$ and $\theta(z, t)$ are amplitude and phase functions, respectively. Substituting (5) into (2) and separating the real and imaginary parts, we obtain

$$-V\theta_z + \frac{1}{2}\beta(z)(V_{tt} - V\theta_t^2) + \alpha(z)V^3 = 0, \quad (6)$$

$$V_z + \frac{1}{2}\beta(z)(2V_t\theta_t + V\theta_{tt}) - \gamma(z)V = 0. \quad (7)$$

Balancing V_{tt} and V^3 in (6), we have $m = 1$. We assume that (6) and (7) have the following formal solutions:

$$V = \alpha_1(z) \left(\frac{G'}{G} \right) + \alpha_0(z), \quad \alpha_1(z) \neq 0, \quad (8)$$

$$\theta = \Phi(z)t^2 + \Gamma(z)t + \Omega(z), \quad (9)$$

where $G = G(\xi)$ satisfies equation (1), $\xi = p(z)t + q(z)$, $\alpha_0(z)$, $\alpha_1(z)$, $\Phi(z)$, $\Gamma(z)$, $\Omega(z)$, $p(z)$, and $q(z)$ are differentiable functions to be determined.

Substituting (8) and (9) into (6) and (7), and collecting all terms with the same order of $(\frac{G'}{G})$ together, the left-hand sides of (6) and (7) are converted into two polynomials in $t^j(\frac{G'}{G})$ ($j = 0, 1, 2$). Setting each coefficient of the polynomials to zero, we derive a set of over-determined differential equations for $\alpha_0(z)$, $\alpha_1(z)$, $\Phi(z)$, $\Gamma(z)$, $\Omega(z)$, $p(z)$, and $q(z)$ as follows:

$$\begin{aligned} t^0 \left(\frac{G'}{G} \right)^0: & \quad \alpha(z)\alpha_0^3(z) + \frac{1}{2}\lambda\mu p^2(z)\alpha_1(z)\beta(z) \\ & \quad - \frac{1}{2}\alpha_0(z)\beta(z)\Gamma^2(z) - \alpha_0(z)\Omega'(z) = 0, \\ t^0 \left(\frac{G'}{G} \right)^1: & \quad 3\alpha(z)\alpha_0^2(z)\alpha_1(z) + \frac{1}{2}\lambda^2 p^2(z)\alpha_1(z)\beta(z) \\ & \quad + \mu p^2(z)\alpha_1(z)\beta(z) - \frac{1}{2}\alpha_1(z)\beta(z)\Gamma^2(z) \\ & \quad - \alpha_1(z)\Omega'(z) = 0, \\ t^0 \left(\frac{G'}{G} \right)^2: & \quad 3\alpha(z)\alpha_0(z)\alpha_1^2(z) \\ & \quad + \frac{3}{2}\lambda p^2(z)\alpha_1(z)\beta(z) = 0, \\ t^0 \left(\frac{G'}{G} \right)^3: & \quad \alpha(z)\alpha_1^3(z) + p^2(z)\alpha_1(z)\beta(z) = 0, \\ t^1 \left(\frac{G'}{G} \right)^0: & \quad -2\alpha_0(z)\beta(z)\Gamma(z)\Phi(z) - \alpha_0(z)\Gamma'(z) = 0, \\ t^1 \left(\frac{G'}{G} \right)^1: & \quad -2\alpha_1(z)\beta(z)\Gamma(z)\Phi(z) - \alpha_1(z)\Gamma'(z) = 0, \end{aligned}$$

$$t^2\left(\frac{G'}{G}\right)^0: -2\alpha_0(z)\beta(z)\Phi^2(z) - \alpha_0(z)\Phi'(z) = 0,$$

$$t^2\left(\frac{G'}{G}\right)^1: -2\alpha_1(z)\beta(z)\Phi^2(z) - \alpha_1(z)\Phi'(z) = 0,$$

$$t^0\left(\frac{G'}{G}\right)^0: -\alpha_0(z)\gamma(z) - \mu p(z)\alpha_1(z)\beta(z)\Gamma(z) \\ + \alpha_0(z)\beta(z)\Phi(z) - \mu\alpha_1(z)q'(z) \\ + \alpha'_0(z) = 0,$$

$$t^0\left(\frac{G'}{G}\right)^1: -\alpha_1(z)\gamma(z) - \mu p(z)\alpha_1(z)\beta(z)\Gamma(z) \\ + \alpha_1(z)\beta(z)\Phi(z) - \mu\alpha_1(z)q'(z) \\ + \alpha'_1(z) = 0,$$

$$t^0\left(\frac{G'}{G}\right)^2: -p(z)\alpha_1(z)\beta(z)\Gamma(z) - \alpha_1(z)q'(z) = 0,$$

$$t^1\left(\frac{G'}{G}\right)^0: -2\mu p(z)\alpha_1(z)\beta(z)\Phi(z) \\ - \mu\alpha_1(z)p'(z) = 0,$$

$$t^1\left(\frac{G'}{G}\right)^1: -2\lambda p(z)\alpha_1(z)\beta(z)\Phi(z) \\ - \lambda\alpha_1(z)p'(z) = 0,$$

$$t^1\left(\frac{G'}{G}\right)^2: -2p(z)\alpha_1(z)\beta(z)\Phi(z) - \alpha_1(z)p'(z) = 0.$$

Solving the set of over-determined partial differential equations by use of *Mathematica*, we get the following two cases:

Case 1.

$$\alpha_0(z) = \frac{1}{2}A_1\lambda \exp\left(\int^z \gamma(\zeta)d\zeta\right),$$

$$\alpha_1(z) = A_1 \exp\left(\int^z \gamma(\zeta)d\zeta\right),$$

$$\Phi(z) = 0, \quad p(z) = A_2, \quad \Gamma(z) = A_3,$$

$$q(z) = -A_2A_3 \int^z \beta(\zeta)d\zeta + A_4,$$

$$\Omega(z) = -\frac{1}{4}[2A_3^2 + A_2^2(\lambda^2 - 4\mu)] \int^z \beta(\zeta)d\zeta + A_5,$$

$$\beta(z) = -\frac{A_1^2}{A_2^2}\alpha(z) \exp\left(2 \int^z \gamma(\zeta)d\zeta\right),$$

where A_1, A_2, A_3, A_4 , and A_5 are arbitrary constants.

Case 2.

$$\alpha_0(z) = \frac{1}{2}A_6\lambda \Phi^{\frac{1}{2}}(z) \exp\left(\int^z \gamma(\zeta)d\zeta\right),$$

$$\alpha_1(z) = A_6\Phi^{\frac{1}{2}}(z) \exp\left(\int^z \gamma(\zeta)d\zeta\right),$$

$$\Phi(z) = \Phi(z), \quad p(z) = A_7\Phi(z), \quad \Gamma(z) = A_8\Phi(z),$$

$$q(z) = \frac{1}{2}A_7A_8\Phi(z) + A_9,$$

$$\Omega(z) = \frac{1}{8}[2A_8^2 + A_7^2(\lambda^2 - 4\mu)]\Phi(z) + A_{10},$$

$$\alpha(z) = \frac{A_7^2\Phi'(z) \exp(-2 \int^z \gamma(\zeta)d\zeta)}{2A_6^2\Phi(z)},$$

$$\beta(z) = -\frac{\Phi'(z)}{2\Phi^2(z)},$$

where A_6, A_7, A_8, A_9 , and A_{10} are arbitrary constants, $\Phi(z)$ is an arbitrary function of z and $\Phi'(z) = d\Phi(z)/dz$.

Substituting Case 1 into (8) and (9), and using (5), we have the first fundamental solution of equation (2):

$$u = \left[A_1 \exp\left(\int^z \gamma(\zeta)d\zeta\right) \left(\frac{G'}{G}\right) \right. \\ \left. + \frac{1}{2}A_1\lambda \exp\left(\int^z \gamma(\zeta)d\zeta\right) \right] \exp[i(A_3t + \Omega(z))], \quad (10)$$

where $G = G(\xi)$, $\xi = A_2t - A_2A_3 \int^z \beta(\zeta)d\zeta + A_4$, $\Omega(z) = -\frac{1}{4}[2A_3^2 + A_2^2(\lambda^2 - 4\mu)] \int^z \beta(\zeta)d\zeta + A_5$, $\beta(z) = -\frac{A_1^2}{A_2^2}\alpha(z) \exp(2 \int^z \gamma(\zeta)d\zeta)$.

Substituting the general solutions of equation (1) into (10), we have three types of exact solutions of equation (2) as follows:

When $\lambda^2 - 4\mu > 0$, we obtain a hyperbolic function solution:

$$u = \frac{1}{2}A_1\sqrt{\lambda^2 - 4\mu} \exp\left(\int^z \gamma(\zeta)d\zeta\right) \\ \cdot \left(\frac{C_1 \sinh\left(\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi\right) + C_2 \cosh\left(\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi\right)}{C_1 \cosh\left(\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi\right) + C_2 \sinh\left(\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi\right)} \right) \\ \cdot \exp[i(A_3t + \Omega(z))], \quad (11)$$

where $\xi = A_2t - A_2A_3 \int^z \beta(\zeta)d\zeta + A_4$, $\Omega(z) = -\frac{1}{4}[2A_3^2 + A_2^2(\lambda^2 - 4\mu)] \int^z \beta(\zeta)d\zeta + A_5$, $\beta(z) =$

$-\frac{A_1^2}{A_2^2}\alpha(z)\exp(2\int^z\gamma(\zeta)d\zeta)$, C_1 and C_2 are arbitrary constants.

If C_1 , C_2 , λ , and μ are taken as special values, some known results can be rediscovered. For example, setting $C_2 = 0$, $\mu = \frac{\lambda^2-4}{4}$, $A_1 = A_{11}\sqrt{-\frac{c_2}{2c_4}}$, $A_2 = \sqrt{-c_2A_{12}}$, $A_4 = 0$, $A_5 = 0$, $c_2 < 0$, and $c_4 > 0$, then solution (11) can be written as

$$u = A_{11}\sqrt{-\frac{c_2}{2c_4}}\exp\left(\int^z\gamma(\zeta)d\zeta\right)\tanh(\xi) \cdot \exp[i(A_3t + \Omega(z))], \quad (12)$$

where $\xi = \sqrt{-c_2}A_{12}(t - A_3\int^z\beta(\zeta)d\zeta)$, $\Omega(z) = (c_2A_{12}^2 - \frac{1}{2}A_3^2)\int^z\beta(\zeta)d\zeta$, $\beta(z) = -[A_{11}^2/2A_{12}^2c_4]\alpha(z)\exp(2\int^z\gamma(\zeta)d\zeta)$. Solution (12) is the known kink-type solitary wave solution (15) found by Zong et al. in [38].

When $\lambda^2 - 4\mu < 0$, we have a trigonometric function solution:

$$u = \frac{1}{2}A_1\sqrt{4\mu - \lambda^2}\exp\left(\int^z\gamma(\zeta)d\zeta\right) \cdot \left(\frac{-C_1\sin\left(\frac{\sqrt{4\mu-\lambda^2}}{2}\xi\right) + C_2\cos\left(\frac{\sqrt{4\mu-\lambda^2}}{2}\xi\right)}{C_1\cos\left(\frac{\sqrt{4\mu-\lambda^2}}{2}\xi\right) + C_2\sin\left(\frac{\sqrt{4\mu-\lambda^2}}{2}\xi\right)}\right) \cdot \exp[i(A_3t + \Omega(z))], \quad (13)$$

where $\xi = A_2t - A_2A_3\int^z\beta(\zeta)d\zeta + A_4$, $\Omega(z) = -\frac{1}{4}[2A_3^2 + A_2^2(\lambda^2 - 4\mu)]\int^z\beta(\zeta)d\zeta + A_5$, $\beta(z) = -[A_1^2/A_2^2]\alpha(z)\exp(2\int^z\gamma(\zeta)d\zeta)$, C_1 and C_2 are arbitrary constants.

If we set $C_2 = 0$, $\mu = \frac{\lambda^2+4}{4}$, $A_1 = -A_{13}$, then solution (13) becomes

$$u = A_{13}\exp\left(\int^z\gamma(\zeta)d\zeta\right)\tan(\xi) \cdot \exp\left[i\left(A_3t + \frac{1}{2}(2A_2^2 - A_3^2)\int^z\beta(\zeta)d\zeta + A_5\right)\right], \quad (14)$$

where $\xi = A_2t - A_2A_3\int^z\beta(\zeta)d\zeta + A_4$, $\beta(z) = -\frac{A_{13}^2}{A_2^2}\alpha(z)\exp(2\int^z\gamma(\zeta)d\zeta)$. Solution (14) is equivalent to the trigonometric function solution (37) given by Zhang et al. in [39].

When $\lambda^2 - 4\mu = 0$, we get a rational solution:

$$u = A_1\exp\left(\int^z\gamma(\zeta)d\zeta\right)\left(\frac{C_2}{C_1 + C_2\xi}\right) \cdot \exp[i(A_3t + \Omega(z))], \quad (15)$$

where $\xi = A_2t - A_2A_3\int^z\beta(\zeta)d\zeta + A_4$, $\Omega(z) = -\frac{1}{2}A_3^2\int^z\beta(\zeta)d\zeta + A_5$, $\beta(z) = -[A_1^2/A_2^2]\alpha(z)\exp(2\int^z\gamma(\zeta)d\zeta)$, C_1 and C_2 are arbitrary constants.

Substituting Case 2 into (8) and (9), and using (5), we have the second fundamental solution of equation (2):

$$u = \left[A_6\Phi^{\frac{1}{2}}(z)\exp\left(\int^z\gamma(\zeta)d\zeta\right)\left(\frac{G'}{G}\right) + \frac{1}{2}A_6\lambda\Phi^{\frac{1}{2}}(z)\exp\left(\int^z\gamma(\zeta)d\zeta\right)\right] \cdot \exp[i(\Phi(z)t^2 + A_8\Phi(z)t + \Omega(z))], \quad (16)$$

where $G = G(\xi)$, $\xi = A_7\Phi(z)t + \frac{1}{2}A_7A_8\Phi(z) + A_9$, $\Omega(z) = \frac{1}{8}[2A_8^2 + A_7^2(\lambda^2 - 4\mu)]\Phi(z) + A_{10}$, $\alpha(z) = A_7^2\Phi'(z)\exp(-2\int^z\gamma(\zeta)d\zeta)/2A_6^2\Phi(z)$, $\beta(z) = -\Phi'(z)/2\Phi^2(z)$.

Substituting the general solutions of (1) into (16), we have other three types of exact solutions of equation (2) as follows:

When $\lambda^2 - 4\mu > 0$, we obtain a hyperbolic function solution:

$$u = \frac{1}{2}A_6\sqrt{\lambda^2 - 4\mu}\Phi^{\frac{1}{2}}(z)\exp\left(\int^z\gamma(\zeta)d\zeta\right) \cdot \left(\frac{C_1\sinh\left(\frac{\sqrt{\lambda^2-4\mu}}{2}\xi\right) + C_2\cosh\left(\frac{\sqrt{\lambda^2-4\mu}}{2}\xi\right)}{C_1\cosh\left(\frac{\sqrt{\lambda^2-4\mu}}{2}\xi\right) + C_2\sinh\left(\frac{\sqrt{\lambda^2-4\mu}}{2}\xi\right)}\right) \cdot \exp[i(\Phi(z)t^2 + A_8\Phi(z)t + \Omega(z))], \quad (17)$$

where $\xi = A_7\Phi(z)t + \frac{1}{2}A_7A_8\Phi(z) + A_9$, $\Omega(z) = \frac{1}{8}[2A_8^2 + A_7^2(\lambda^2 - 4\mu)]\Phi(z) + A_{10}$, $\alpha(z) = A_7^2\Phi'(z)\exp(-2\int^z\gamma(\zeta)d\zeta)/2A_6^2\Phi(z)$, $\beta(z) = -\Phi'(z)/2\Phi^2(z)$, C_1 and C_2 are arbitrary constants.

If we set $C_1 = 0$, $\mu = \frac{\lambda^2-4}{4}$, then solution (17) gives

$$u = A_6\Phi^{\frac{1}{2}}(z)\exp\left(\int^z\gamma(\zeta)d\zeta\right)\coth(\xi) \cdot \exp[i(\Phi(z)t^2 + A_8\Phi(z)t + \Omega(z))], \quad (18)$$

where $\xi = A_7\Phi(z)t + \frac{1}{2}A_7A_8\Phi(z) + A_9$, $\Omega(z) = \frac{1}{4}[A_8^2 + 2A_7^2]\Phi(z) + A_{10}$, $\alpha(z) = A_7^2\Phi'(z)\exp(-2\int^z\gamma(\zeta)d\zeta)/2A_6^2\Phi(z)$, $\beta(z) = -\Phi'(z)/2\Phi^2(z)$. Solution (18) is a singular travelling wave solution.

When $\lambda^2 - 4\mu < 0$, we have a trigonometric function solution:

$$u = \frac{1}{2}A_6\sqrt{4\mu - \lambda^2}\Phi^{\frac{1}{2}}(z)\exp\left(\int^z \gamma(\zeta)d\zeta\right) \cdot \left(\frac{-C_1\sin\left(\frac{\sqrt{4\mu - \lambda^2}}{2}\xi\right) + C_2\cos\left(\frac{\sqrt{4\mu - \lambda^2}}{2}\xi\right)}{C_1\cos\left(\frac{\sqrt{4\mu - \lambda^2}}{2}\xi\right) + C_2\sin\left(\frac{\sqrt{4\mu - \lambda^2}}{2}\xi\right)}\right) \cdot \exp[i(\Phi(z)t^2 + A_8\Phi(z)t + \Omega(z))], \quad (19)$$

where $\xi = A_7\Phi(z)t + \frac{1}{2}A_7A_8\Phi(z) + A_9$, $\Omega(z) = \frac{1}{8}[2A_8^2 + A_7^2(\lambda^2 - 4\mu)]\Phi(z) + A_{10}$, $\alpha(z) = A_7^2\Phi'(z)\exp(-2\int^z \gamma(\zeta)d\zeta)/2A_6^2\Phi(z)$, $\beta(z) = -\Phi'(z)/2\Phi^2(z)$, C_1 and C_2 are arbitrary constants.

When $\lambda^2 - 4\mu = 0$, we get a rational solution:

$$u = A_6\Phi^{\frac{1}{2}}(z)\exp\left(\int^z \gamma(\zeta)d\zeta\right)\left(\frac{C_2}{C_1 + C_2\xi}\right) \cdot \exp[i(\Phi(z)t^2 + A_8\Phi(z)t + \Omega(z))], \quad (20)$$

where $\xi = A_7\Phi(z)t + \frac{1}{2}A_7A_8\Phi(z) + A_9$, $\Omega(z) = \frac{1}{4}A_8^2\Phi(z) + A_{10}$, $\alpha(z) = A_7^2\Phi'(z)\exp(-2\int^z \gamma(\zeta)d\zeta)/2A_6^2\Phi(z)$, $\beta(z) = -\Phi'(z)/2\Phi^2(z)$, C_1 and C_2 are arbitrary constants.

Remark 1. All solutions presented in this paper have been checked with *Mathematica* by putting them back into the original equation (2).

Remark 2. To the best of our knowledge, solutions (11), (13), (15), (17)–(20) are new and they have not been reported in [23, 38–45].

4. Conclusion

Based on several suitable transformations, the generalized (G'/G)-expansion method has been successfully used to obtain some new exact solutions with parameters of the nonlinear Schrödinger equation with variable coefficients. The free parameters $A_1 - A_{10}$, C_1 , C_2 , λ , and μ , especially the arbitrary function $\Phi(z)$ in solutions (17)–(20), can make us discuss the behaviours of solutions and also provide us enough freedom to construct solutions that may be related to real physical problem. It may be of importance in the explanation of some practical problems in physics. The paper shows that the generalized (G'/G)-expansion method combined with suitable transformations provides a more powerful tool for constructing exact solutions of the nonlinear Schrödinger equation with variable coefficients and can be used for many other variable-coefficient NLEEs in mathematical physics. Finding suitable transformations and applying the generalized (G'/G)-expansion method to other variable-coefficient NLEEs in mathematical physics is our task in the future work.

Acknowledgements

We would like to express our sincere thanks to the referees for their valuable suggestions and comments. This work was supported by the Natural Science Foundation of Educational Committee of Liaoning Province of China under Grant No. 20060022.

- [1] M. J. Ablowitz and P. A. Clarkson, *Soliton, Nonlinear Evolution Equations and Inverse Scattering*, Cambridge University Press, Cambridge 1991.
- [2] R. Hirota, *Phys. Rev. Lett.* **27**, 1192 (1971).
- [3] M. R. Miurs, *Bäcklund Transformation*, Springer, Berlin 1978.
- [4] J. Weiss, M. Tabor, and G. Carnevale, *J. Math. Phys.* **24**, 522 (1983).
- [5] C. T. Yan, *Phys. Lett. A* **224**, 77 (1996).
- [6] M. L. Wang, *Phys. Lett. A* **213**, 279 (1996).
- [7] J. H. He, *Int. J. Nonlinear Sci. Numer. Simul.* **6**, 207 (2005).
- [8] J. H. He, *Chaos, Solitons and Fractals* **19**, 847 (2004).
- [9] J. H. He, *Int. J. Modern Phys. B* **20**, 1141 (2006).
- [10] T. A. Abassy, M. A. El-Tawil, and H. K. Saleh, *Int. J. Nonlinear Sci. Numer. Simul.* **5**, 327 (2004).
- [11] S. H. Ma, J. P. Fang, and C. L. Zheng, *Z. Naturforsch.* **62a**, 8 (2007).
- [12] W. Malfliet, *Am. J. Phys.* **60**, 650 (1992).
- [13] E. G. Fan, *Phys. Lett. A* **227**, 212 (2000).
- [14] F. D. Xie, Y. Zhang, and Z. S. Lü, *Chaos, Solitons and Fractals* **24**, 257 (2005).
- [15] S. Zhang and T. C. Xia, *Appl. Math. Comput.* **181**, 319 (2006).
- [16] E. Yomba, *Chaos, Solitons and Fractals* **27**, 187 (2006).
- [17] S. Zhang and T. C. Xia, *Phys. Lett. A* **356**, 119 (2006).
- [18] S. K. Liu, Z. T. Fu, S. D. Liu, and Q. Zhao, *Phys. Lett. A* **289**, 69 (2001).
- [19] Y. Chen, Q. Wang, and B. Li, *Z. Naturforsch.* **59a**, 529 (2004).
- [20] M. L. Wang and Y. B. Zhou, *Phys. Lett. A* **318**, 84 (2003).
- [21] M. L. Wang, Y. M. Wang, and J. L. Zhang, *Chin. Phys.* **12**, 1341 (2003).
- [22] S. Zhang, *Chaos, Solitons and Fractals* **32**, 1375 (2007).

- [23] S. Zhang and T.C. Xia, J. Phys. A: Math. Theor. **40**, 227 (2007).
- [24] S. Zhang and T. C. Xia, Phys. Lett. A **363**, 356 (2007).
- [25] S. Zhang, Appl. Math. Comput. **188**, 1 (2007).
- [26] J. H. He and X. H. Wu, Chaos, Solitons and Fractals **30**, 700 (2006).
- [27] S. D. Zhu, Int. J. Nonlinear Sci. Numer. Simul. **8**, 461 (2007).
- [28] S. Zhang, Phys. Lett. A **365**, 448 (2007).
- [29] J. F. Zhang, Q. Yang, and C. Q. Dai, Optics Commu. **248**, 257 (2005).
- [30] Q. Liu and J. M. Zhu, Phys. Lett. A **252**, 233 (2006).
- [31] C. Q. Dai, J. M. Zhu, and J. F. Zhang, Chaos, Solitons and Fractals, **27**, 881 (2006).
- [32] Y. B. Zhou, M. L. Wang, and Y. M. Wang, Phys. Lett. A **301**, 31 (2001).
- [33] M. L. Wang, X. Z. Li, and J. L. Zhang, Phys. Lett. A **372**, 417 (2008).
- [34] M. L. Wang, J. L. Zhang, and X. Z. Li, Appl. Math. Comput. **206**, 321 (2008).
- [35] A. Bekir, Phys. Lett. A **372**, 3400 (2008).
- [36] S. Zhang, J. L. Tong, and W. Wang, Phys. Lett. A **372**, 2254 (2008).
- [37] J. Zhang, X. Wei, and Y. Lu, Phys. Lett. A **372**, 3653 (2008).
- [38] F. D. Zong, C. Q. Dai, Q. Yang, and J. F. Zhang, Acta Phys. Sin. **55**, 3805 (2006).
- [39] J. F. Zhang, C. Q. Dai, Q. Yang, and J. M. Zhu, Optics Commu. **252**, 408 (2006).
- [40] J. F. Zhang, C. Z. Xu, and B. G. Guo, Acta Phys. Sin. **53**, 3652 (2004).
- [41] J. L. Zhang, B. A. Li, and M. L. Wang, Chaos, Solitons and Fractals **39**, 858 (2009).
- [42] R. C. Yang, R. Y. Hao, L. Li, X. J. Shi, Z. H. Li, and G. S. Zhou, Optics Commu. **253**, 177 (2005).
- [43] X. Lü, H. W. Zhu, X. H. Meng, Z. C. Yang, and B. Tian, J. Math. Anal. Appl. **336**, 1305 (2007).
- [44] J. F. Wang, L. Li, and S. T. Jia, Optics Commu. **274**, 223 (2007).
- [45] X. Q. Liu and Z. L. Yan, Commu. Nonlinear Sci. Numer. Simul. **12**, 1355 (2007).